

Page 1 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	22,600.00000	22,600.00				
	MANCE BOND AND IT BOND	DOLL						
0003	153003P	(1)	38,000.00000	38,000.00				
PROGRE	SS SCHEDULE	LS						
0004	153005M	3.000	8,000.00000	24,000.00				
PROGRE	SS SCHEDULE UPD	ATE U						
0005	154003P	(1)	488,000.00000	488,000.00				
MOBILIZ	ATION	LS						
8000	157004M	1.000	38,000.00000	38,000.00				
CONSTR	RUCTION LAYOUT	DOLL						
0012	159003M	50.000	100.00000	5,000.00				
BREAKA	WAY BARRICADE	U						



Page 2 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 RO		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0013	159006M	100.000	200.00000	20,000.00				
DRUM		U						
0014	159009M	1,000.000	35.00000	35,000.00				
TRAFFIC	CONE	U						
0015	159012M	2,069.000	32.50000	67,242.50				
CONSTR	UCTION SIGNS	SF						
0016	159015M	2.000	1,500.00000	3,000.00				
CONSTR SIGN, 4' X	UCTION IDENTIFICA [.] X 8'	TION U						
0017	159027M	4.000	5,000.00000	20,000.00				
ARROW	BOARD, 4' X 8'	U						



Page 3 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY	Cat Alt Set:		Set:	Set: Cat Al		
0018	159030M	8.000	18,000.00000	144,000.00				
PORTAB SIGN	LE VARIABLE MESS	AGE U						
0019	159108M	4.000	15,000.00000	60,000.00				
_	CONTROL TRUCK VED CRASH CUSHION	_						
0020	159138M	23.000	2,500.00000	57,500.00				
HMA PA	ГСН	Т						
0021	159260M	2.000	2,000.00000	4,000.00				
CONSTR SIGN, IIJ	UCTION IDENTIFICA A 6' X 4'	TION U						
0022	159300M	200,000.000	0.50000	100,000.00				
TRAFFIC	STRIPES, LATEX, 4	" LF						



Page 4 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Membe	r Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	Set: Cat /		Alt Member:	
0023 159312M	7,000.000	0.51000	3,570.00				
TRAFFIC MARKINGS LATEX, 8"	LINES, LF						
0024 159314M	4,400.000	1.25000	5,500.00				
TRAFFIC MARKINGS LATEX, 24"	LINES, LF						
0025 160004M	1.000	7,100.00000	7,100.00				
FUEL PRICE ADJUST	MENT DOLL						
0026 160007M	1.000	1,300.00000	1,300.00				
ASPHALT PRICE ADJ	USTMENT DOLL						
0027 161003P	(1)	38,000.00000	38,000.00				
FINAL CLEANUP	LS						



Page 5 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		Cat Alt Set:		Set:	Cat A			
0028	201003P	(1)	40,000.00000	40,000.00				
CLEARIN	IG SITE	LS						
0029	401009P	21,700.000	19.59000	425,103.00				
HMA MIL	LING, 3" OR LESS	SY						
0030	401017P	2,200.000	36.77000	80,894.00				
MICRO-N	MILLING	SY						
0031	401021M	300.000	300.00000	90,000.00				
HOT MIX REPAIR	ASPHALT PAVEMEN	NT SY						
0032	401024M	5,000.000	6.00000	30,000.00				
	G OF CRACKS IN HOT T SURFACE COURSE							



Page 6 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0033	401027M	11,000.000	2.50000	27,500.00				
POLYME	RIZED JOINT ADHE	SIVE LF						
0034	401030M	3,600.000	6.25000	22,500.00				
TACK CO	PAT	GAL						
0035	401061M	2,750.000	287.87000	791,642.50				
_	ASPHALT 12.5 M E E COURSE	Т						
0036	401108M	15.000	406.25000	6,093.75				
CORE SA	AMPLES, HOT MIX	U						
0037	401113M	2,000.000	150.00000	300,000.00				
HMA LON REPAIR	IGITUDINAL JOINT	SY						



Page 7 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

	Constant Decomption: Treate 22, Wilson Worldo to Weatham Treate (Cit 66 1)							
	No / Item ID Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY	Cat Alt		: Set:	Cat Alt Member:		
0038	424110M	171,800.000	6.97000	1,197,446.00				
CHIP SE	EAL PG88-22FR	SY						
0039	602210M	2.000	3,008.63000	6,017.26				
BICYCL	E SAFE GRATE	U						
0040	602213M	2.000	3,508.63000	7,017.26				
CURB P	IECE	U						
0041	607018P	40.000	714.23000	28,569.20				
9" X 16" CURB	CONCRETE VERTIC	AL LF						
0042	610003M	100,000.000	0.85000	85,000.00				
TRAFFI	C STRIPES, 4"	LF						



Page 8 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

	•	Trodic 22, Wilson /		(511 55	·,			
	lo / Item ID Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY			Cat Alt Set:		Cat Alt Member:		
0043	610012M	720.000	55.00000	39,600.00				
RPM, MO LENS	ONO-DIRECTIONAL,	WHITE U						
0044	610014M	8,000.000	2.75000	22,000.00				
TRAFFIC	MARKING LINES, 8	s" LF						
0045	610017M	5,000.000	8.25000	41,250.00				
TRAFFIC	MARKING LINES, 2	24" LF						
0046	610018M	460.000	55.00000	25,300.00				
RPM, MO	ONO-DIRECTIONAL, LENS	U						
0047	610024M	1,180.000	80.00000	94,400.00				
REMOV	AL OF RPM	U						



Page 9 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

Contract Description: Route 22, Wilson Avenue to Mountain Road (CR 634)

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	ROADWAY	Cat Alt Set:			Cat Alt Member:		
0048	610036M	100,000.000	0.95000	95,000.00				
REMOVA	L OF TRAFFIC STRI	IPES LF						
0049	610039M	6,100.000	9.44000	57,584.00				
REMOVA	L OF TRAFFIC MAR	KINGS SF						
0050	610060M	1,700.000	10.00000	17,000.00				
TRAFFIC	MARKINGS SYMBO	OLS SF						

Section Totals: \$4,711,729.47



Page 10 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

Contract Description: Route 22, Wilson Avenue to Mountain Road (CR 634)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0006 155018M	1.000	48,000.00000	48,000.00				
FIELD OFFICE TYPE F SET U	JP U						
0007 155036M	9.000	9,000.00000	81,000.00				
FIELD OFFICE TYPE F MAINTENANCE	MO						

Section Totals: \$129,000.00



Page 11 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 **Project(s):** 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

Contract Description: Route 22, Wilson Avenue to Mountain Road (CR 634)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 NON-PARTICIPATING Cat Alt Set: Cat Alt Member:

 0002
 152015P
 1.000
 20,000.00000
 20,000.00

 POLLUTION LIABILITY INSURANCE
 DOLL

Section Totals: \$20,000.00



Page 12 of 12

Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 District(s): C1

Call Order: 143 Project(s): 0022356

Contract Time: 10/21/24 COMPLETION DATE Min: Max:

Contract Description: Route 22, Wilson Avenue to Mountain Road (CR 634)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:	
0009 158030M	30.000	772.18000	23,165.40				
INLET FILTER TYPE 2, 2' X	4' U						
0010 158063P	(1)	6,250.00000	6,250.00				
CONCRETE WASHOUT SYS	STEM LS						
0011 158072M	2.000	2,500.00000	5,000.00				
OIL ONLY EMERGENCY SP TYPE 1	ILL KIT, U						
Section Totals:			\$34,415.40				
Co	ntract Totals		\$4,895,144.87				
Cost F	Plus Time Totals		\$4,895,144.87				

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 143 Contract ID: 23143 Counties: SOMERSET

Letting Date: October 17, 2023 10:00 AM District(s): C1

Contract Time: 10/21/24 COMPLETION DATE

Contract Description: Route 22, Wilson Avenue to Mountain Road (CR 634)

Project(s): 0022356

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	ASPHALT PAVING SYSTEMS, INC.	\$4,895,144.87	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.